DIRECTIONS FOR QUESTIONS 1-21: For each of the

select the answer choice that is best for each case.

1 If two planes intersect, then they intersect in
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exactly

A. one linc. C. one point.

B. one plane. D. two points
Which is a possible relationship between

two acute angles?
I vertical
II adjacent

A. 1and Il only
B. Iand Ill only

111 complementary
IV supplementary

C. 1.11.and 111 only
D. 1,11 111, and IV

In the figure below, ¢ || mand ms 1 = 48°

Which other numbered angles have a
measure of 48°?

2.4 m
14)/68/t

A. £2.£4.and £8
B. £2,£4.46.and £8
C. £3.45,and 27
D. £3,44,45.and £6

The lengths of two sides of a triangle are
5 and 8. Which is not a possible length for
the third side?

A S B. 8 Cn D. 13

Given that K M bisects 2JK 1. and
miJKM = 78 thenmiJKL =

A. 26° C. 106°
B. 37° D. 148°

If both pairs of opposite sides of a
quadrilateral are congruent, then the
quadnlateral must be a

A. rectangle. C. parallelogram.

B. square. D. trapezoid.

7

10

1"

questions below,

Quadnlalcml PORS is an isosceley

trapezond with bases °Q and SR, Givey, thy
miS ™ 118°, what s m & R l

A Y C.

B (\2" D- |2'°

What is the measure of each exterior a the
of a regular hexagon?

A. 4%
B. 60° D. 120°

c nt

In the figure below, it is gi\'cn lhll_l‘m i
BE imtersect at point Cand that AC & %
Which additional information would ngy
help you show that AABC & ADCE?

B D
A;CQE

A. AB = DE
B. AB| DE

C. L.CBA=(CED
D. Point C is the midpoint of BE,

Which of the following justifies the
conclusion AVWZ ~ AVXY?

X
W
% [
"4 b4 Y

A. AA Similarity Postulate

B. SSS Similarity Theorem

C. SAS Similarity Theorem

D. definition of similar polygons

In which type of quadrilateral are the
diagonals not necessarily perpendicular?
C. kite

D. rhombus

A. rectangle

B. square




¢ is a trapezoid with congruent
nrked Which slalcmcnl 18 false?

?<\

XYZ =mLWZY
XYZ + mLYXW = 18(°

ﬂ“s fﬂu 16

¢ mé

D, ML 17

g Find &

xo
15° )

A- 75° c. ]500
5w D. 105°

@ Identify the largest angle of AABC.

A
/\
B 9 C
C. 4B

D. All angles are
equal in measure,

18

19

20

A LC
B. LA

5 Using only the markings shown, the triangles
below are congruent by which postulate or
theorem?

21

A HL
8. SSA

C. HAL
D. CPCTC

A -
/{%y‘% Y

Which Proportion is not true
for the figure? X

C. % = 6&,
D. ) = Ve w
If all sides of a quadrilateral are congruent and

Opposite sides are parallel, the figure must be a
A. rhombus.

K

C. rectangle.

B. parallelogram.  D. trapezoid.

Thc lengths of two sides of a triangle are
5 inches and 8 inches. Which can be the
length of the third side?

A.2in. B. 13in. C. 15in. D. 7in.

The figure to the right is a regular
hexagon. Find the value of x.

A, 120° C. 45°

B. 60° D. 135°

The length of a side of a regular decagon

is 11 centimeters. What is the perimeter
of the decagon?

A. 132cm
B. 220cm

C. 110cm
D. 55cm

Given the triangle below, which is the range
of all possible values of y?

8
/
10
A 2<y<I8 C. 2% y<i10 !
B. 8<y<10 D. y>18
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ur work.

DIRECTIONS FOR 22-24: Solve each problem and show yo

22 ABCD is a parallelogram.
B 3 0‘\) (xt)+(4xrB) =11 b) Sy-¥ 2 dyrl
5y =i 27 (e 12 S e I
zy + 1 %®=33 Z'q
(e + 3)* ) T (JZ
) A 15 D =1 1) me A (3343)= 3¢
Cy) Find x.=33 S
- (y(zm) )= 114
Q Find y.<4 m £8 [(’5) 'J\
%) Find AB and CD. = q
d) Find m£ A and m<LB.
3b J44
23 AJKMisan isosceles triangle with base KM.JL bisects LKIM and

LK =T1% 3 l%Da— I~ BE°
e Find mzJLK. = G0 « 15

i ]
e FindmeM. 71° J 5 —q1 2 2§
e Find msKIM. 3§° o

s 90°
1 §0°-90°= 7°

Consider the following vertex-edge graph.
¢

24

g

Describe a situation that could be represented by the vertex-edge

graph.
What is the degree of each vertex? Vedos ks Q xheret ace 3
S e, tharest Gre o)

Which vertices are odd and which are even? N’
path? Explain.

Does the vertex-edge graph have a Euler

Yes, because t i
here is only one odd degree edge and each vertex is connected to another.
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Preparing for the New Je

DIRECTIONS FOR QUESTIONS 1
select the answer choice that is best

1 Which set of numbers could be the lengths
of the sides of a 45°-45°-90" triangle?

A. 3.3,3V3 ¢ b1y
B. 2.2.2V2 p. Y2, V3,3

_21: For each of the g
for each case.

2

—2

2 Which represents the area of
the shaded region inside the

square? k /
A. 4p + 16 C. 16 -4p
B. 4p — 16 D. 16p — 16

3 One base of a trapezoid is three times as
long as the other base. The height of the
trapezoid is the average of the two bases.
If the area of the trapezoid is 16 yd?, how
many yards long is the shorter base?

A 2 .4 €12 0.16

4 The figure at the
right consists of four
semicircles arranged
along the sides of a
square as shown.
Find the perimeter
of the figure.

A. 125.67 units
9 (2n(5)
B. 62.83 units
C. 40 units
D. 31.42 units
5 Write an expression in terms of b for the

arca of a rectangle whose length is 2b — 1
and whose widthis b + 3.

A+6b-3 C Th-3
B.3?+4b~3 D.262+5h-3
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uestions below,

6 Wrntean cxprgssion in Z for the .
circle whose circumference is 249: of

C. 144p
D. 1272

A. 24z
B. 144pz2

7 Find the area of trapezoid PQRs.

8 A straight length of wire 64 in. long
is shaped into a circle with no wire
overlapping. What are the diameter apg
radius of the circle formed? Give yoyr
answer to the nearest tenth of an inch,

A. diameter: 9 in.; radius: 4.5 in.
B. diameter: 64 in.; radius: 32 in.
C. diameter: 10.2 in.; radius: 5.1 in.
D. diameter: 20.4 in.; radius: 10.2 in.
9 Eight congruent circles with radius a
are arranged inside a rectangle as shown,

Write an expression in terms of a for the
perimeter of the rectangle.

- A

N
B. 16a

A. 24a C.32a D. 12



(al distance along 10
the wf the square and

g e
i1 > e semicircic:
\

Jonté C. 45.7

A # D. 68.5
ol 4

o total distance along the longer
ne rectangle and along the two

=
==
L) T =

10— I
L

{

2 B. 263 C. 326 D. 451
A
vhat iS the midpoint of the points (-5,2)
\
i aﬂd (3, "7)‘7
A (35’5) C. ("l. ""2.5)
) g5 =) D. (4, -4.5)

ch represents the greatest possible

i n a length measured to the nearest

error |
hﬂf.inch?

A %in. B. }in. C %in. D. i%in.

l

which represents the length of a side of
snequilateral triangle whose perimeter is

j22cm?
A 36.6cm
g. 9.2cm

C. 41cm
D. 122cm

§ Write the sum of the vectors (2, -5) and
(10, -3) as an ordered pair.

A (6, —4) C. (82)
8. (-3,7) D. (12, -8)

% Which of the following is the measure of the
side of a square with a diagonal of 247

A 12V2 C. 24V2
B 6 D. 21V3

17

18

19

20

13

/9./17

21

ABCis a tniangle with

hypotenuse of length 16 and
legs of lengths b and 6. Find the
length of b rounded to the nearest tenth.

A 171 B. 10 C 148 D. 47

8

"B

c A

5
A

I8, what is the length of BD? 8 D

A6

B. 9 c E

C 9V2
T
s

Which represents m2 A to
the nearest whole degree?

A. 55°
B. 99°
C. 66°
D. 38

In the figure, B is the midpoint
of AC and D is the midpoint
of AE.If the length of CE is

Find the value of v. Note
that the figure is not drawn
to scale.

A 8
B. 12

Find m< R given that
mST = 110° and
mRS = 140°,

A P
B. §§°
C ne
D. 12%

<

337




R T TR RN TR

*.
DIRECTIONS FOR W r WO
22-24: Solve each problem and show you "
22 . 5 OW.
A regular pentagon inscribed in a circle 1 shown in the figure

\8 A= 5 6(5'S>(Y>:‘; HD uaibl

¢ Find the area of the regular pentagon. ;
= . a

« What is mAB? (Hint: remember that this is a regular pen

e Find msx. = I$0-72°< Jog°

gon.) 14¢°

g he taller tree is
23 Two trees are 100 ft apart on level ground. The height :’ {r‘ec to the top of

75 ft. The angle of depression from the top of the talle
the shorter tree is 15°.

At
* Find the height of the shorter tree to the nearest tenth of a foot. qy

st
* What is the distance between the tops of the two trees 10 the neares
tenth of a foot? ) 0. S-FI'

L
e If all of the measurements were taken to the nearest “":;h Of(: foo <
what is the percent of error in your answer to the secon part! .S/,

24 Two diameters go through the center of a spinner. creating four sections.
' 30 1
3(0 0 - (>

e If the area of one of the shaded sections is 20 in.%, what is the area of
the entire circle? 5= 30 x=Jddid

2 s
e What percentage of the spinner is shaded? 5= 1 % [6. 7%

e If the arc formed by one of the white sections is 16 in. long, what is the
length of the arc formed by the other white section? Explain.

The other would be 16 in as well because the central angles of both white sections are
vertical angles which are congruent, making their arc lengths congruent.
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DIRECTIONS FOR QUESTIONS 1-18: For each
select the answer choice that is best for each case-
6 Which could be the dimensions of 4

1 If the radius and height of a cyhinder are

doubled then ats lateral area
A staysthe same.  C. tniples
B. duubles D. quadruples

Find the number of 3 ft X 2 ft X 1 ft boxes
that can be packed i the pnsm below.

-

A6 C 2
B. 3 D. 4

The cone-shaped papercup 7 =

has a height 9 cm and a rim
with crcumference 12xcm.
What is the volume of the cup?

A. 16956 cm? C. 508.68 cm’
B. 339.12cm? D. 1017.36 cm?

Which is the surface area of a rectangular
prism with length 6, width 5. and height 4?

A. 120 units® C. 154 units®

B. 148 units® D. 180 units®
a(c)(;)n(‘)(*)n@(?

Lo +48+dd =14

Suppose that a sphenical scoop of ice cream
scts in the cone below so that its great circle
1s along the circumference of the cone, how
much space s left inside the cone?

C. 150.8cm

D. 226.2cm

A 754cm
B. 31 6cm

of the questions below,

: n
rectangular prism that has the same ght
volume as a right rcc.langular prism With
ume 132 cubic units?

vol
A. length 11, width 2,and height § J [ 0

B. length 12, width 6, and height 2 J L{ L/
C. length 11, width 2,and height¢ | ) 3

D. length 11, width 2, and height 12

Find the total surface area of the cope,

3.5in.
———
A. 76.93 in.2 C. 92.32in2
B. 75.83 in.? D. 261.56 in 2

Find the weight of the contents of a righ,

rectangular prism with length 15 ft, wigy,
3 ft, and height 3.5 ft if the contents weigh
0.25 pounds per cubic ft.

(NG-5) = éﬂ/gi

A. 39.375 pounds
B. 630 pounds
C. 33.75 pounds

D. 540 pounds

The volume of a right cylinder is 245 cm?.
If the radius of the cylinder is 5.5 cm, find
its height to the nearest hundredth.

A. 2.08cm C. 241 cm
B. 2.58cm D. 3.6l cm




i
i

ngle has an area of 504 in 2wy is
£ rcC:; rum possible perimeter of the

m
f

pe” 1e?
‘aﬂgl 1
; l G C. 508in.

. D. 1010 in,
260 i
B

lar fish tank has dimension,
c‘;‘“zg;i x 1.5 ft. Itis packed ip alft x
) f; 3 ft box. How much ﬁllgr IS needed
47 urely package the aquarium for

s¢

f p—_ |

' mg.
shipP 3 C. 421}
p 25

e D. 285 fi3
B.

n has a diameter of 3 inches and 5

a A -Caht of 4.5 inches. How much paper
h?;f“ take to create the label for the capo
wi

a 847817 C/: ? 1l

: 2
. 42.39in- .
T = [} U .
cuminz  5U 5

p. 127.17in2

The length of each side of the Pyramid of

3 Cheops originally measured 756 ft and its
Jant height was 482 f!. Find thf: lateral area
of the pyramid when it was built.

A. 926,100 ft?
B. 728,784 ft?
C. 927,315 ft?

D. 730,296 ft2

14 If the lateral area of a right cylinfier ‘with a
1 ft radius is 97 ft2, what is its height?

R C. 451t
B. 2911 D. 091t

16

17

18

B. fectangular prism
C. pentagongy prism

D. hexagona) prism

A cylinder has one la i
teral face. W

o ok ace. What is the

A. circle C. rectangle

B. square D. triangle

A right tnang

ular prism has how many
lateral faces?

A1l B.2 G 3 D. 4

Assuming no cubes are hidden from view,

which foundation drawing represents the
set of stacked cubes?

A 1] C[3
3 112
2|2 112311
31111
B-’?' D 231
112 112
112031 !
3
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20

21
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DIRECTIONS FOR 19-21: Solve each problem an

19 A circular aboveground pool has a diameter of 8 ft an
the ground. )
the pool is not

4 show your work:

e Find the surface area of the pool. (Hint: The top of

d stands 5.5 ft off

enclosed.) | %% o £
11 per square ft,

e If the pool company charges an installation fce of
how much will the installation cost? 59 273.90

e If the pool is to only be filled to 75% of its maxim
much water can it hold? 207- 35 £+

um capacity.

Use the figure below.

) Find the volume of the right cylinder. V= = P = 4mes

® Find the volume of the right cone. V-5~ a,.,,. a(q)" el

®) Find the volume of the entire figure. 417 1 I%n -

d'> What is the surface area of the entire ﬁgure" ’
SA(n) = e(re i) A e heTe

SA(¢glde)= Aneht 2we?

Ww+ﬁbw

A right cone nests inside a right cylinder as shown.

45cm v

e Find the volume of the inscribed cone. 573 Bem’
e Find the volume of the cylinder. 286 -3 o’

how

63‘)T\' ‘__ﬁz

= 7w (7438)+ MU
= IT(3S) + 1T = 24ST +M
=3890¢c

o Find the volume of the space inside the cylinder but outside the cone. [9D- 7S om

o)
Sa= e rN’»e_)’erh*M‘%{’ W(”)(%W}ﬂn{?}

U

b
M



